

ITB No. 22-101513

DEPARTMENT OF PURCHASING AND CONTRACTING

Bid Opening: 5/26/2022

Commercial Containers, Commercial Container Lids, Commercial Recycle Containers and Roll-Off Containers (Annual Contract with 2

ITB Name:

Options to Renew)

BID TABULATION Price Schedule Opening: 6/9/2022
Agent: L. Deneen Walters

	Company			Wastequip Inc.		
<u>ITEM</u> NO.	DESCRIPTION	ESTIMATED QUANTITY	<u>UOM</u>	UNIT PRICE	<u>AMOUNT</u>	
	3CY capacity with front loading, "Standard Flat Top" Bidding On:					
1	Manufacturer's Name, Model #	72	Each	\$876.00	\$63,072.00	
	4CY capacity with front loading, "Standard Flat Top" Bidding On:					
2	Manufacturer's Name, Model #	40	Each	\$1,004.00	\$40,160.00	
	6CY capacity with front loading, "Standard Flat Top" Bidding On:					
3	Manufacturer's Name, Model #	60	Each	\$1,363.00	\$81,780.00	
	8CY capacity with front loading, "Standard Flat Top" Bidding On:					
4	Manufacturer's Name, Model #	45	Each	\$1,600.00	\$72,000.00	
	OPTIONAL PARTS: Steel Refuse Containers Mounting Brackets Bidding On:					
5	Manufacturer's Name, Model #	500	Each	\$2.25	\$1,125.00	



	OPTIONAL PARTS: Hinge Rods				
	Bidding On:				
6	Manufacturer's Name, Model #	500	Each	\$12.50	\$6,250.00
	OPTIONAL PARTS: Washers Bidding On:				
7	Manufacturer's Name, Model #	500	Each	\$0.50	\$250.00
	OPTIONAL PARTS: Cotter Keys Bidding On:				
8	Manufacturer's Name, Model #	500	Each	\$0.50	\$250.00
	TOTAL (Group 1: Items 1-8)				\$264,887.00
			2. RECYC	LING CONTAINERS	
	6CY capacity with front loading,				
	standard Bidding On:				
9	Manufacturer's Name, Model #	50	Each	\$1,446.00	\$72,300.00
	OPTIONAL PARTS: Mounting Brackets Bidding On:				
10	Manufacturer's Name, Model #	500	Each	\$2.25	\$1,125.00
	OPTIONAL PARTS: Hinge Rods Bidding On:				



	OPTIONAL PARTS: Washers Bidding On:				
12	Manufacturer's Name, Model #	500	Each	\$0.50	\$250.00
	OPTIONAL PARTS: Cotter Keys Bidding On:				
13	Manufacturer's Name, Model #	500	Each	\$0.50	\$250.00
	TOTAL (Group 2: Items 9-13)				\$80,175.00
			3. ROLL-	OFF CONTAINERS	
	10CY-12CY capacity Bidding On:				
14	Manufacturer's Name, Model # Approx. Weight: Bidding on Container Size:	10	Each	\$5,224.00	\$52,240.00
14	20CY capacity Bidding On:	10	Lucii	73,224.00	\$32,240.00
15	Manufacturer's Name, Model # Approx. Weight: 30CY capacity	10	Each	\$6,359.00	\$63,590.00
	Bidding On:				
16	Manufacturer's Name, Model # Approx. Weight:	10	Each	\$7,108.00	\$71,080.00
	40CY capacity Bidding On:				
	Manufacturer's Name, Model #			4	*
17	Approx. Weight:	10	Each	\$8,385.00	\$83,850.00
	TOTAL (Group 3: Items 14-17)				\$270,760.00
		<u>4.</u>	HEAVY DUTY, OPEI	N TOP,TUB STYLE CONTAINERS	



	10CY capacity Bidding On:				
18	Manufacturer's Name, Model # Approx. Weight:	10	Each	\$6,205.00	\$62,050.00
	20CY capacity Bidding On:				
19	Manufacturer's Name, Model # Approx. Weight:	10	Each	\$7,776.00	\$77,760.00
	30CY capacity Bidding On:				
20	Manufacturer's Name, Model # Approx. Weight:	10	Each	\$8,921.00	\$89,210.00
	40CY capacity Bidding On:				
21	Manufacturer's Name, Model # Approx. Weight:	10	Each	\$10,334.00	\$103,340.00
	TOTAL (Group 4: Items 17-21)				\$332,360.00
TOTAL					



Witness Signature:

Agent Signature: